A & 0l & AFE B Al A

2 BAFMY
S AYHLLALSAE A S HEIAMEM RS
Che: B2 ZR2H (CHl: X 21)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
habSEs i) 9,150,802 8,019,775 1,131,027
= 1,285,486 1,294,492 9,006
s 153,000 153,000 0
J| 663,995 659,699 4,29
== 778,765 781,069 A2,304
i 5,869,556 4,931,515 938,041
CH 400,000 200,000 200,000
AHULLHLSANEHAZ AU ATM RS 8,137,249 7,181,809 955,440
= 1,285,486 1,294,492 9,006
s 153,000 153,000 0
J| 663,995 659,699 4,29
(o= 778,765 781,069 N2,304
i 4,856,003 4,093,549 762,454
CH 400,000 200,000 200,000
BAHoZ2Y 1,469,066 1,451,312 17,754
SHZA2IAA 1,141,786 1,141,386 400
201 et 3| 398,216 395,216 3,000
02 2224l 259,000 256,000 3,000
O&Lal at2esE)| sRli2el
3,000,000 3,000 0 3,000
405 KHabE S| 16,000 18,600 A2,600
01 AR ESEFHSHI 16,000 18,600 A2,600
OFHo=d 2H=35 72 16,000 18,600 A2,600
0M Al Ste2etsd|l 2
13,400,000 1CH 13,400 18,000 24,600
02AF= DLIH 2
150, 000 *4CH 600 0 600
OZZDHE0 [HE APt
1,000,00084 14l 1,000 0 1,000
0Xlzal A0 2 400,000 *1CH 400 0 400
BHISASAXS 210,584 193,230 17,354
401 AEHIZL O] 27,000 10,000 17,000
01 Al&H| 27,000 10,000 17,000
OYHESEHASA AIAE HASD|] WX
17,000,000 x 1Al 17,000 0 17,000
405 KHabE S| 354 0 354
01 AR ESEFHSHI 354 0 354
Ols=AD 2 354,000 %10H 354 0 354
sHEASMEIA JHEAIY 231,138 229,500 1,638
s 153,000 153,000 0
== 38,250 38,250 0
i 39,888 38,250 1,638
SHEA S HUIAINEAS 231,138 229,500 1,638
= 153,000 153,000 0
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SN - B H2(3) - HRAY - BES O kol ol & o HImE2
= 38,250 38,250 0
i 39,888 38,250 1,638
401 AlEHIZL 20| 224,193 222,555 1,638
= 148,370 148,370 0
(o= 37,0092 37,092 0
i 38,731 37,093 1,638
01 Al&H| 224,193 222,555 1,638
OsMEHTZ A S 31,638,0002 31,638 30,000 1,638
s 20,000 20,000 0
(o= 5,000 5,000 0
i 6,638 5,000 1,638
LBEO| EAHZMHIA HS 248,851 245,454 3,397
A=A MeEs ™I 248,851 245,454 3,397
201 et 3| 57,083 56,736 347
01 At22teld| 47,663 47,316 347
OSS4 2USM EFHARE 22
83,0002/%90! 747 400 347
307 212t01& 44,960 41,910 3,050
01 2 & 3=l 44,960 41,910 3,050
OZAHIIZNSE ZEH=
100,0002 %43 400 360 40
OgAIE (G =g 1,4002%7,1500! 10,010 7,000 3,010
FAXNA SS2ASAY 774,410 705,870 68,540
J| 200,000 200,000 0
(o= 50,000 50,000 0
i 524,410 455,870 68,540
FHoX S=4 SN2 469,698 499,798 /30,100
J| 200,000 200,000 0
i 269,698 299,798 /30,100
101 eI44| 402,271 432,371 230,100
J| 200,000 200,000 0
i 202,271 232,371 230,100
03 SR (RIHY)2Z2RES 318,350 348,450 230,100
OSZ2AZAEAIL (2SS AN 21| 178,950 209,050 230,100
0o== 2,600,000R%301%12& 93,600 124,800 A31,200
J| 37,010 37,010 0
i 56,590 87,790 A31,200
0AREHA+E 205,000*301% 128 7,380 8,160 AT780
J| 7,200 7,200 0
o 180 960 AT80
0ots< 100, 00021 *301x 122 3,600 4,800 A1,200
J| 1,920 1,920 0
i 1,680 2,880 A1,200
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A BAFMY
M HHHYLAHLSIEHIS HEIAMA RS
ol FHUXA %E,‘SIEM%* (CHol: X 2)
2A - ZH () - MRAY - HAS Of] &K J &3 o Hws2
(0[0] 7 e = 45,0002 *301%246 33,210 33,210 0
J| 33,210 33,210 0
054 140, 0002 *x301x60 2! 25,200 16,800 8,400
J| 10,400 10,400 0
= 14,800 6,400 8,400
0FEE S| 2,600,000 *301%25|x60% 9,360 12,480 A3, 120
0ot 4| 110,000 %301x20 6,600 8,800 A2,200
Fo X S322012 X 304,712 206,072 98,640
< 50,000 50,000 0
i 254,712 156,072 98,640
101 @I244| 304,712 206,072 98,640
== 50,000 50,000 0
= 254,712 156,072 98,640
04 JIRIH2ENSES 304,712 206,072 98,640
OS2ASAEAIL (2ES AL 01244] 304,712 206,072 98,640
OE2(AREHsY X8
2.641,1102x601x 122 190, 160 126,774 63,386
< 50,000 50,000 0
i 140, 160 76,774 63,386
0of2k==&t 45,000 *601x062! 25,920 17,820 8,100
052+ 140,000 +601x36 30,240 14,560 15,680
0FEE S| 1,482,660 «6021%23| 17,792 11,862 5,930
0D &M| 90,000 *621% 15 8,100 5,400 2,700
(IS SR = 197,000 %501% 122 11,820 9,456 2,364
08322 WsHdl
120,000 *621%23] 1,440 960 480
otz ¥ frdHete] 2,417,005 1,577,870 839,135
J| 314,555 314,555 0
== 91,868 91,830 38
= 1,610,582 971,485 639,097
CH 400,000 200,000 200,000
Ol 222 | A 1,355,932 716,932 639,000
307 212t01™ 1,248,950 618,950 630,000
01 2 & 35| 1,248,950 618,950 630,000
ORz Hgys sl 2 1,213,000 583,000 630,000
OCHAIIZAl QYT S gHal
100,000 *12,0000! 1,200,000 570,000 630,000
405 KHaEE S| 9,000 0 9,000
01 AR ESEFHSHI 9,000 0 9,000
OmalED 9| 7,500, 0002410 7,500 0 7,500
OUMANHE N QEZ AAE 2¢
1,500,000241CH 1,500 0 1,500
O 2 ALY 30,728 30,984 N256
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2A: BAHAEY
A AYELAHUSEEHAS MU A RS
el olgiael 3 ergEate] CEEEN
2A - HH . H(SH) - MRAIY - BES Of] &K J &3 o Hws2
301 LEIEAZ 11,858 12,114 N256
02 MBIBEEGZ2(FILAHS, XLHA) 3,358 3,614 256
OBHHIQIE A ZE 2H0| 228 A S 4l
N 4,6002%201%3652 3,358 3,614 A256
KR HIZ RIS ZAL AF 13,460 13,460 0
| 6,730 6,730 0
[ 3,365 3,365 0
o 3,365 3,365 0
201 LBt AY| 2,020 0 2,020
| 1,010 0 1,010
= 505 0 505
o 505 0 505
01 AtR-2teld 2,020 0 2,020
OXIRIH ZHTEHA Ot & E22 M
1,01024%2Z+1,0007H 2,020 0 2,020
7 1,010 0 1,010
= 505 0 505
o 505 0 505
307 2I12+0|A 11,440 13,460 N2,020
7 5,720 6,730 21,010
= 2,860 3,365 2505
o 2,860 3,365 A505
01 2z & 3l=H| 11,440 13,460 22,020
OXI XM ZHRICHA A} 32,50024%35201 11,440 13,460 A2,020
7 5,720 6,730 21,010
& 2,860 3,365 A505
= 2,860 3,365 AB05
Z8h T |EA A 720 594 126
= 216 178 38
o 504 416 838
307 2I12+0|A 720 594 126
= 216 178 38
= 504 416 88
01 2Z 2 3=d| 720 594 126
OZSII|UA(ZSH LA
4,000&*1809! 720 594 126
& 216 178 38
= 504 416 88
olz X8t ROt= OtSFXI2l At 400, 265 200,000 200,265
= 265 0 265
CH 400,000 200,000 200,000
402 QI2EXH=0|H 400,265 200,000 200,265
= 265 0 265
CH 400,000 200,000 200,000
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A BAFMY
M AL RALSUEAIS MBI AMM TS
el olgiael & frdda CEREERD
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
01 QIREXHE ARG 2 (RHAITH) 400,265 200,000 200,265
O2d2xg 0Pt OIESFXI2 A
400,264,730 400,265 200,000 200,265
= 265 0 265
CH 400,000 200,000 200,000
AT B A 274,277 250,037 24,240
= 0 4,116 24,116
J| 52,849 48,733 4,116
[ 15,778 16,858 21,080
s 205,650 180,330 25,320
22dd 170,430 144,030 26,400
307 212t0|& 150,000 123,600 26,400
0122 & 2/=H| 150,000 123,600 26,400
Ogatdela EHAl S
4,000,000 * 12 48,000 21,600 26,400
220 == &HE HIZ20 HIE XY 4,200 4,620 2420
< 2,100 2,310 2210
A 2,100 2,310 2210
307 212t01& 4,200 4,620 A420
< 2,100 2,310 2210
A 2,100 2,310 2210
01 22 & 2/=H| 4,200 4,620 A420
O22280 =3 A 22HE X
60,0002 702! 4,200 4,620 2420
[ 2,100 2,310 2210
s 2,100 2,310 2210
FHS ZE0Y SASE 2,090 3,830 21,740
< 1,045 1,915 A870
= 1,045 1,915 2870
307 212t01& 2,090 3,830 21,740
< 1,045 1,915 A870
= 1,045 1,915 2870
0122 & 2/=H| 2,090 3,830 21,740
OL/ZE ZE(L MRI, = MRA)
120,000 % 12¢! 1,440 2,400 2960
< 720 1,200 2480
s 720 1,200 2480
OE=2Y DI|IZAAY
32,5003 202! 650 1,430 AT780
< 325 715 A390
= 325 715 2390
%)EH%E 2 JIMESEE o2 (BUIIME EIXIAL 5,880 5,880 0
A
= 0 4,116 24,116
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M SHEMDE
M HHHYLAHLSIEHIS HEIAMA RS
ol APE LA (cro): =2l
SN B SL(3) - MRAY - BES Ol ol & o {TmE=T}
J| 4,116 0 4,116
T 1,764 1,764 0
201 LE23H| 5,880 4,880 1,000
= 0 3,416 A3,416
J| 4,116 0 4,116
i 1,764 1,464 300
01 AtR2elt] 5,880 4,880 1,000
OArEE & 2288 S 72
7.35024%800H 5,880 4,880 1,000
= 0 3,416 A3,416
J| 4,116 0 4,116
i 1,764 1,464 300
202 44| 0 1,000 A1,000
= 0 700 AT700
i 0 300 A300
01 2U0dbI 0 1,000 A1,000
OZU JIM=E EIXIAE =& o 0 1,000 A1,000
= 0 700 AT700
i 0 300 A300
2| & YA 655,084 649,504 5,580
= 1,200 6,090 24,890
J| 2,780 2,600 180
== 4,180 4,590 A410
i 646,924 636,224 10,700
g 29 135,452 131,452 4,000
201 LEt23FH| 14,600 10,600 4,000
01 At22teld| 14,600 10,600 4,000
OZZg MY 2E=SF 72
5,000 *10=*20} 1,000 0 1,000
OXZEII0N 2 HL2ACIMNS EEES
TS 3,00091%1Z5+1,0000H 3,000 0 3,000
ZIEd HEEIXIAY 37,150 30,450 6,700
405 KHAHE S| 25,000 18,300 6,700
01 AL =SS FHSHI 25,000 18,300 6,700
OESI(uM+=Es) 7
1,000, 00022504 25,000 18,300 6,700
DZ2LH0IHAZES-19 ZelgJ X2l XA 0 8,820 8,820
= 0 4,410 24,410
== 0 4,410 24,410
307 212t01 ™ 0 8,820 8,820
= 0 4,410 24,410
== 0 4,410 24,410
01 2 & 35| 0 8,820 28,820
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A BARD
HIM: AN ULAYSTLASMHIAKM RS
chelr Zggate] 2 HAAY CEEEN
2A - HH . H(SH) - MRAIY - BES Ofl AboH ol Al Hlnsz
OD2Lt 19 22l XI2H| X
0 0 8,820 18,820
= 4,410 A4,410
[ 4,410 24,410
=Q 2o HE2AUAAY 360 360 0
= 0 180 A180
7l 180 0 180
< 180 180 0
201 LB A 360 360 0
= 0 180 A180
7l 180 0 180
< 180 180 0
01 AFR2t2IHI 360 360 0
=Q 2oY H2AAAL 282 ¢
5,0002 % 1Z+7204 360 360 0
= 0 180 A180
7l 180 0 180
< 180 180 0
TSI 2Y oll2te|A 5,200 5,200 0
7l 2,600 2,600 0
z 2,600 2,600 0
201 LBt A 5,200 5,200 0
7l 2,600 2,600 0
z 2,600 2,600 0
01 AF22t2IHI 5,200 5,200 0
OXSIPDILIH B2E X2
50,0002*51CH 2,550 2,500 50
7l 1,275 1,250 25
= 1,275 1,250 25
OS] 0K 2y 2IZs M=
2,65020%1Z+1,0000H 2,650 2,700 A50
7l 1,325 1,350 N5
z 1,325 1,350 N25
D2LHI A LA ZAL- 2ZHAl ALY 1,200 1,500 A300
= 1,200 1,500 A300
307 @120 & 1,200 1,500 A300
= 1,200 1,500 A300
0192 & 3=H| 1,200 0 1,200
OZZLHY ZAF LAZAD |2 2HAI
1,200,000 x 174 A 1,200 0 1,200
= 1,200 0 1,200
02 QIFAAAIRIE R 0 1,500 A1,500
OZZLHO ZAF LAZAD |2 2HAI
0 0 1,500 21,500




A EAFE
M HHHYLAHLSIEHIS HEIAMA RS
ol 2rEgae| Y ALY (crol: 221
SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
| = 0 1,500 A1,500
BICH ZEXICHZH 4,000 0 4,000
< 4,000 0 4,000
206 =4I 4,000 0 4,000
< 4,000 0 4,000
01 MZHl 4,000 0 4,000
Ovltf gHsE 7L 4,000,000 4,000 0 4,000
== 4,000 0 4,000
SHHIBSAE2H 1,880,592 1,885,436 N4, 844
= 1,284,286 1,284,286 0
== 550,054 550,906 852
i 46,252 50,244 A3,992
SHAIMEIAlE BAX S XA 66,934 71,778 N4, 844
== 20,682 21,534 A\852
i 46,252 50,244 A3,992
307 212t01™ 66,934 71,778 N4, 844
== 20,682 21,534 N\852
i 46,252 50,244 A3,992
10 AISISXAEEHE2IHIEX 66,934 71,778 N4, 844
OstdIAlE SAEL JHHEER & HEHYH =+
=1 2,600,000 %2321 59,800 65,000 5,200
== 18,478 19,500 A1,022
i 41,322 45,500 N4 178
OStHIMEA L =X FAIH|
118,900 *600! 7,134 6,778 356
< 2,204 2,034 170
i 4,930 4,744 186
MEHIH S 3,200 3,200 0
J| 1,600 1,600 0
< 1,600 1,600 0
MEHIH CHEICHES I3t 3,200 3,200 0
J| 1,600 1,600 0
== 1,600 1,600 0
201 LEt23FH| 3,120 3,200 A80
J| 1,560 1,600 240
== 1,560 1,600 240
01 AtR2elt] 2,640 0 2,640
OMZHIY THIUIS 2988 AR L 2
gHl S 2,640,000& 2,640 0 2,640
J| 1,320 0 1,320
< 1,320 0 1,320
03 A2 480 3,200 A2,720
OMEHIH HHHIHE 2o/ EIHAF AlAF
M= 8,0002*600! 480 3,200 22,720
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SA BARMY
HI: HHULALSISAIS M A PS
ohelr MEHH U2 (CHe]: M)
2A - HH . H(SH) - MRAIY - BES Ol Aot Bl =yt [ ImES=l;
J| 240 1,600 A 1,360
[ 240 1,600 A 1,360
301 LBEAS 80 0 80
p) 40 0 40
[ 40 0 40
11 SAAHI X 22 80 0 80
OMZH 2 UHILS 2o/&8d BIHA AlAL
MZ 8,000 % 100! 80 0 80
p) 40 0 40
[ 40 0 40
WRE=(BAFD) 175,587 0 175,587
EFSINES 175,587 0 175,587
EES=IEE=) 175,587 0 175,587
802 Bret=2J|Et 175,587 0 175,587
01 2NEXILrES 133,721 0 133,721
OsHZESZMHIA JHA AL RIBHEH (0| X}
Za) 7,071,9802! 7,072 0 7,072
020233 22 SUASAR SROFHAZAE]
XISIAF ZIBH RO (0| XHZ EY)
66,7002 67 0 67
02023 A0t LR HUZAHI KA
o FBRM(O| KL E) 1,206,9602 1,207 0 1,207
02023 AR BHLSAX HK0F AT
AP S2IH| AFS! OfKh-aoH 1902 1 0 1
02022 KSAREZH)| B2XN 2 AFY &8
Zhol 12,3102 13 0 13
O2023d USAREA)| B2 A &3
ko 16,8002 17 0 17
02023 AlHSEE 2EXIR AM Ol RHA
o 4,830¢ 5 0 5
02023 AZZHLSBAKX LBHAJAT A}
o ESHXIH(O|XIELE) 1,254, 1602 1,255 0 1,255
02023 EI(0HIH 2 olr2te| Ol xrg
4o 5,0002 5 0 5
02023 2ZLHY U - 2H2|XIZH| XA
O KpetAHoH 2,000 2 0 2
02023 T EHAZHRAR|AI (XIY) DEA
OH(O| Xtz E!) 4,884,000 4,884 0 4,884
O2023 ST SIS TR KIS O] KHeh Ao
1,882,000 1,882 0 1,882
02023 & SHAIQITIGHAIA EIAZTAL 2 9|2
XIE AMY ZIBHZFOH (O] KHEEY)
1,290,000 1,290 0 1,290
02023 H22Al 2HZH| O XHgra8oH
1,000& 1 0 1
O20232 HHEE L JIMEREH 0f 222l AL
A(ELHIIMS EIXIAIY) OfRpeayol
02 1 0 1




SA: 2AFH
M JRES(2AFMY)
S (Cto: M)
A - HH . H2(3H) - HRAK = Ol ArH Jl & A Hws2
02023 =2Jt2te| X (228 ALY 0]
e Aon 7,8208 8 8
02023 001X L AH0IZH(XIR) A 01X
Sl 8,8902 9 9
02022 2IH0| LB Z AL EIBRHOH (0| K
&) 115,903,2402! 115,904 115,904
02022 (L ESESHE2Y ZBEHH (0
Xt 8t) 97,3802 9% 98
02 Al - SHIBZZ2pHE2 41,866 41,866
OsHEAZMHIA HLAIY EISHEK(O| Xt
Ta) 1,768,8402! 1,769 1,769
02023 Q2204 SAEX FROFALZH T
KISIAL ZIB4 XU (0| RFE )
8,340¢ 9 9
02023 FR0F LLUEOY HUBAM| XA
o ZSHAIH( 0| XHE ) 150,860 151 191
02023 222043 AX FR0H ALAX
A 2| AR ZIBHEROH(O|RHEE)
202 1 1
020233 22042 AR LAX HIZ04 Hl
SX2 ALY 0| KHerAHoH 2 2
02023 FUH S HHLATIAI (SRS,
Som) ZISMRH (0| KHEE)
320,070 321 321
02023 A28 2AXY AR O XA
o 5102 1 1
020235 MASE XHA OHAXIRAIY OIRF
Aol 570 1 1
02023 F AR 232/2I|12 XIRA 0
K etaol 202 1 1
O2023EHE Z3HA 2SR |2UA ALY ZIBE
o (0| XFZ ) 53,0002 53 53
O2023EHE AL ZHZRIAI(XIY) TEE
H(O|XtZE) 2,300,000 2,300 2,300
02023 DRLHY e - 2H2|XI2H| X2 ALY
O Khgayon 2,000 2 2
02022 D2LHY THEAXIE Ol&Hl S RIRIA
of OIXpgrAyoH 10,000 10 10
O3 T SHAEHTRZ| XIS 0| KpetatoH
987,000 987 987
O2023EHE SHAMEIAIL SAHL S XY ALY
ZIBHRIOH (0| K} L) 1,455,000 1,455 1,455
O2023EHE H=2HAl 22| 0| Xrgrayol
1,000 1 1
02023 0fl01= L AHIZH(XIY) OIXHeA
oK 2,660 3 3
02023 2ot 2t2| X (ZIHL2E) OIXr
HH 2,340 3 3
02022 2L LB S AL EIBHRHH (0| X
&) 34,770,750 34,771 34,771
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